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swer sheets for Part-A and Part-B. Use of
I be provided on demand.

All questions are compulsory. Use separate : |
simple calculator is allowed. Log table and g

Q1. @) A firm produces three products X;, X, and X req: iring mix of three materials M, , M,
M; The per unit requirement for each product of different materials is as follows:
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Using matrix notations, find:
(1) Total requirements of each material if the firm produces 40. 100 and 50 units
of the products X, X and X;respectively,
(i)  Per unit cost of producuon of each product if the per unit costs of materials
- M, M; and Myare Rs.10, Rs.15 and Rs. 20 respectlvcly,
(iiiy ~ Per unit profit earned by each product if the selling price of X, Xpand X; is

Rs. 150, Rs.160 and Rs.200 respectively, and
(iv)  Total profit of the firm if it is able to self its entire production. 7
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(b) In an engineering workshop there are 10 maohmes for drilling, 8 machines for turning and
9 machines for grinding. Three types of brackets are made. Type I brackets require 0
- minutes for drilling, 10 minutes for turning and 5 minutes for grinding, The corresponding

times for Type 11 and Type Ill are 3, 2, 4 an::l &% 2 minutes respectively. How many -

brackets of each type should be pmduced per hour so that all the machines remain Fully
occupied during an hour? Solve by matrix algebra. T
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(b) F md the elashcmes ef a‘emf_f

functionp= 300 -0.5x%and suppiy f’uncts;on p= I.Sx— +1=G@; where pis.
price and X is quantity. : _ 5_
o~ - '

or

. ~ (c) Total g_:qstlfun.etion of a firm is C(x) = 200x - 12x? +x*.

" e when the prrce mcreaSes ‘te Rs 209

Fmd -(1) the demand kugctiq;;.
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mvenue maxlmlsaman output and maximum revenue at ﬁ':af mt

@3, (a) What do you understandby “force of interest™? 'F-iﬁd‘*eﬁeétme-rate*'o:'f-igr:lter.'es't — ;
equivalent to the nominal ifat‘f;: 12% c_onyc;rteéi (a) quarterly (b) yearly (c) mbnthly. ,-.
e i e Y e |

(B A machme is purchamd f@r Rs. ate a:t‘a constant rate ofsy ;
for the first 5 years, after that at 8% for next 5 years and then at 10% for the
i sfoliomng 6 years. Find the value of machine after 16 years and the average rate %
'-'-f_"nf depremahma durmg thi s--‘permd it is ealcu}ated by diminishing balance 5

_method ; it ik : 4

"compoundedk half yearly durmg first 3 year 'cdﬁ@éunded quartcr
the second year, at- 10% campounded c@ntmaaugl g the

9% compounded continuously for next two years. Find thc ariount in his bzmk
after 5 years. 4

(d) How much should a 50 year old man invest ‘now at 8% per year comp@unded
semn—annua!ly to obtam a iump sum of Rs 500, .000 on hi
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